
Multiplying and Dividing Decimals  
 

NON CALCULATOR 
Multiplication Division 

0.2 x 0.6 0.4 ÷ 0.2 
1.2 x 0.3 0.6 ÷ 0.03 
0.05 x 1.2 1.2 ÷ 0.4 
0.3 x 2.1 18 ÷ 0.003 

0.06 x 0.03 1.8 ÷ 0.18 
0.6² 0.08 ÷ 0.4 

0.01³ 2.4 ÷ 0.06 
0.3 x 0.1 x 0.04 15 ÷ 0.5 

1.3 x 1.3 35 ÷ 0.07 
12.3 x 0.2 0.2 ÷ 0.2 ÷ 0.2 

0.076 x .02 3.3 ÷ 1.1 
1.1 x 1.1 6 ÷ 0.012 

0.003 x 0.1 6.4 ÷ 0.04 
4 x 0.07 2 ÷ 0 
64 x 0.01 2 ÷ ½  
0.1² x 0.1² 4 ÷ 1.6 

0.00006 x 0.0 0.01 ÷ 0.002 
9.0 x 0.09 16 ÷ 1.6 
-0.1 x -0.1 0 ÷ 5 
2.5 x 2.5 5 ÷ 5 ÷ 0.5 

0.001 x 0.98 0.1 ÷ 0.001 
1.4 x 1.2 14 ÷ 14 

John thinks of a number and divides it 
by a half. The answer is 24. What 

number did he thing of? 
Pete says 0.2 of a number is 0.084. 

What was the number? 
Sue has half of a third of a cake. How 

much is left? 
0.2 of 0.4kg of metal is rusty. How 

much is not rusty? 
What is 2 divided by ¼ ? 

Jane thinks if she multiplies a number 
by another positive number it will 

either stay the same or get bigger. 
Give examples of scenarios to show 

she is not true 
It takes a man half a day to dig a hole. 

He has 20 days to dig holes. How 
many holes can he dig in this time? 

How many times do you have to 
divide 0.1 by itself to get 1000? 
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